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Sample size for estimating a finite population proportion
Sample size for estimating an infinite population proportion
Sample size for comparing two independent population means
Sample size for comping two population proportions

MIMUIUVUIAAIDI Logistic regression
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1.1 Sample size for estimating a finite population proportion

Sample size for estimating a finite
population proportion
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Np(1 - p)z]

a
k=3

T BN -1)+p(1 -p)22

2

n

Population size (N) =
Proportion (p) =

Error (d) =

*p and d must be a range of 0 to 1.

Alpha (a) = 005°¢ Decimal= 2°¢

Cluster sampling? No ¢
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Sample size for estimating a finite
population proportion
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Np(1 —p)2?

-
1=3

(N -1)+p(1-p)g? o

n=

Population size (N) = 1,500
Proportion (p) = 0.1571

Error (d) = 0.05

*p and d must be arange of 0 to 1.

Alpha (a) = 0.05¢ Decimal= 22

Cluster sampling? No ¢

Output:

Z(0.975) = 1.96
n=179.28

Thus, sample size = 180
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1.2 Sample size for estimating an infinite population proportion

Sample size for estimating an infinite
population proportion
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n =
d2
Proportion (p) =
Error (d) =
*p and d must be a range of 0 to 1.
Alpha (a)= 0.05¢ Decimal= 2°¢

Cluster sampling? No ¢
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Sample size for estimating an infinite
population proportion

Help
X )
2 gp(l—p
n =
d2
Proportion (p) = 0.1571
Error (d) = 0.05
*p and d must be a range of 0 to 1.
Alpha (a) = 005°¢ Decimal= 2°¢

Cluster sampling? No &

Output:

Z(0.975) = 1.96
n=203.48

Thus, sample size = 204
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2.1 Sample size for comparing two independent population means

Sample size for comparing two
independent population means
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n = A2
r= Z—f» A =py — pg

Mean in group1 (u1) =

Mean in group2 (p2) =

SD. in group1 (o1) =

SD. in group2 (02) =

Ratio (r)= 1

Alpha ()= 005°¢ Decimal= 2¢
Beta(B)= 02°¢

Cluster sampling? No ¢

u, A0 AUNABUDI outcome Naulalungui 1 H5ONQY Treatment
A 1 A A oA G 1

w, A9 AUNABVDI outcome Naulalungui 2 W3engu Control
A 1 1 d' d' 1 d' A 1

o, A9 MaMDEUUUNIATFIUYEI outcome Nearulolungui 1 H3BNGN Treatment
A 1 1 d‘ d' 1 d' A 1

o A9 AMaITBUVUNIATFIUVBI outcome N Talungui 2 vsengu Control

r =22 ApEATIEIUTEHINVINAA 0819 TUNGN 2 @ONqY 1(Control: Treatment)
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fMvenah 3 N3 lHau g3 Sample size for comparing two independent population means

v 9 o aw A = ' a @ a 9 i A
AR ﬂﬁmmimmi’mmwauﬁﬂumaummaammmmwhwmm@ﬂ’mﬁmnqu o

Yo

ngui lasuelui (ngunaae) wazngu 1d5ue11AI 51U (NGUAILAY) 9INATTNUNIU

1 1 A [ a Y oA Yo 1 1 1w
ATTIUNTITY WU mmamjmmmwuiawmamﬂaaﬂqnﬂmmﬂwm (ﬂ@ﬂJ“l/lﬂﬁ’E)\i) MnNy

=

110 mmHg Andsanumasgiuvesanuau laiavesdiongui 1d5ve1 v (nqunaass)
[ 1 d' [ a Y 1 d’ Yo (]

M0 50 mmHg ANRdgveInNuan Tafiavesdirengui 1a5DeIAsgIU (NqUAILAY)
[ Y 1 d' (% a Y 1 d' Yo

MR 130 mmHg ANdeuUUUIATFIMY0IANNAN Tatiavesdienqui lasuemasgIv

(NAUAIVAY) INAY 30 mmHg OATIAIUTENINVUIAAIBEI Control AD Treatment IMIAY 1:1



o o 1 a ) . Yo 1 dy
MNIAMUIUATN LLDWNALATU ndstudies sﬂg‘l@@qg@‘lﬂu

Mean in group1 (u1) = 110

Mean in group2 (u2) = 130

SD. in group1 (1) = 50

SD. in group2 (02) = 30

Ratio (r) = 1

Alpha (a)= 005¢ Decimal= 2°¢
Beta(B)= 02°¢

Cluster sampling? No ¢

Output:
Z(0.95) = 1.96, Z(0.8) = 0.84,
n1=66.64

Thus, sample size in group1= 67 and group2
=867
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2.2 Sample size for comping two population proportions

Sample size for comparing two
population proportions
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__ p1t+por Ny
A=p—p2, P= T ? T=7T1

@=1-p, @=1-p; g=1-p

Proportion in group1 (p1) =

Proportion in group2 (p2) =

*p1and p2 must be arange of 0 to 1.

Ratio (r) = 1

Alpha(a)= 005°¢ Decimal= 2¢
Beta(B)= 02¢

Continuty correction? No <

Cluster sampling? No &
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Proportion in group1 (p1) = 0.063
Proportion in group2 (p2) = 0.031

*p1 and p2 must be a range of 0 to 1.

Ratio (r)= 1
Alpha (a)= 005°¢ Decimal= 2°¢
Beta(B)= 02°¢

Continuty correction? No <

Cluster sampling? No ¢

Output:
Z(0.975) = 1.96, Z(0.8) = 0.84,
n1=684.69,

Thus, sample size for group1= 685, and group2
=685

v & == y dyd = o I o ] '
ANUU ﬂ”liﬁﬂielﬂuﬂﬁuuﬁﬁiI?J"IﬂﬂiiﬂTNWﬂ"ﬁJ"la WUt mIu 1,370 318 IﬂEJLL‘JNﬂQ‘JJ

I

1 I = = Y J 2’, 4 12 Y
ﬂ@ﬂlﬂuﬁ@]iN]ﬂﬂiSﬂﬂhﬂ"l’)%@?l!ﬂﬂuﬂ"liﬁﬂﬂiiﬂ 685 318 uaz”lwm:]zmu 685 31¥



MIMUIMNVIIARIDENS Logistic regression (@15 outcome 114 binary)

q93 n = (cases*k)/p (k fosmanilaseiienla , p Aoanuynvesmsinalsafiaule)
Peduzzi P et al. A simulation study of the number of events per variable in logistic regression
analysis. Clin Epidemiol. 1996 Dec;49(12):1373-9.
N3 iﬁﬁ’ wials c?fmﬂu Numerical (continuous) response:

- 30 per predictor [Cohen&Cohen, 1975]
st sduntly Binary response (logistic, Cox's & Poisson regression)

- 10 cases per predictor [Peduzzi et al,1996]
nsdiaaualsduily categorical

~ (b-1)*10 cases per predictor Tagfi b A0 Taumsutianaudanls wu we ntiadlu 2

nEUEIaEHal 92 19610619 (2-1)*10 = 10 cases

AIDENINIAIMINYHIANIBENG Logistic regression
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- INA

- Cholesterol

- eGFR

g3 n = (cases*k)/p (k Aosraudadeneauly , p Aoanugnvesmsina lsaiiauly)
UNUAIGAT n = (30+10+10+20)/0.40 = 175 AL
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{ o 2 &
Tagh aa)301g 1AV1T1Y Numerical ; n=30 cases

(% 1 g U a
alne vautlu 2 AgY WMo ; n = (b-1)*10 = (2-1)*10 = 10 cases

@2111/5 Cholesterol w2 ﬂij'iJ well 8¢ poor control
;n=(b-1)*10 = (2-1)*10 = 10 cases

@ 1 I 1 ' .
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;n=(b-1)*10 = (3-1)*10 = 20 cases
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